S Bh T (F—— A B E R

AIl'TAC

PC. POC%7%l

¥, & 5T 1E 15

PC 6 01 []1 []-S

e

ORIz RE QEEOE (B3 ERIR B @mefn GF B 5® ©HERR®
PC. BWE® — SRR EREEDR |melsr EeEs
=11 4 o4 'M5: MBX0.8' ®©4, ®6 | __ 1.
= 5. ®6mm PRI SRR PE. W@ | 0. e
. : N S I 7905, . RN
POC: BIRHER Yo, 0 10mm 02: PTI/4 | 08 20 : S S: iAHR04
12: ®12mm 03: PT3/8 | 415 D: ke EO. Re
04: PT1/2 }
EmRE EORRBEEERARERER
fEFE A EEE 0~10kgf/cm*(0~1.0MPa) ERRH | RERS wmEOEZ
=11 -750mmHg(10Torr) = M5 03.4 (D.G o8 ©10 ©12
(REBMET] 1.5MPa PTI/8 ° D ° ° °
ERRESEE (C) -20~70 PC PT1/4 ) ) ° ° °
BRNE EERBIPUE Eﬁg : : : :
e RERE N o o
PT1/8 ° ° ° °
POC PT1/4 ° ° ° ° °
EmE PT3/8 D ° °
PT1/2 ° °
1. AEMEBERTHHEI4, BIEHRIDARSHE, anet
IBRFRABE, PaEBHEHS
2. BEBIREBHE, MSAH PCH5I P &W | HME F® EW  HEH
o ] 1 |BBEO| POM | 4 | EMIE | POM
BRMNBHRS, BREE 2 | e $85% | 5 =803, NBR
e R 3 | HERA AFEE| 6 | A | AHHt04

3. BBREOBHACENSRERETE,

DEEEREEFER.

58RI
oD oD
PCRII [~ S —
- 1 I —
TF Ny 72 S
| © M5#R & | | R |
| i i i |
WHEIRS = '/ -
R/ vy R
- 2
R SR\FT iR oD R L © K #iEgH [F2(g) {S
PC4M5-S Mb5x0.8 3.5 19.56 14 9 6 P
PC401-S 4 PT1/8 7.5 19.5 14 10 6.5
PC402-S PT1/4 | 10 | 195 | 14 14 | 125 WEE®E (oD] R | 0P| L | C | K | HBH ERg)
PC6M5-S Mb5x0.8 3.5 22.5 16.5 12 8 —
POC4M5-S M5x0.8/ 9 3.5 | 186 14 2.5 3.5
PC601-S PT1/8 | 7.5 | 22.0 | 18.5 | 12 7 POC401-S | 4 | PT1/8 | 10 | 75 | 18 | 14 | 3 5
PC602-S 6 PT1/4 10 24.5 18.5 14 14.5
PCE03_S PT3/8 F 295 185 17 29 POC402-S PT1/4 14 10 19.5 14 3 11.5
= : : POCB6M5-S M5 x0.8] 12 3.5 | 21.5]16.5 2.5 5.5
PC604-S PT1/2 14 26.0 18.5 21 42
PC801-S PT1/8 75 28 185 12 125 POC601-S 6 PT1/8 12 7.5 | 220 1856 4 6
PC802-S PT1/4 10 27 185 12 12 POC602-S PT1/4 14 10 22.0 | 18.5 4 11
PC803-S| © | PT3/8| 11 | 235 | 185 | 17 | 195 POC801-S PT1/8 | 14 | 7.5 1265 18 | 5 9
PC1002-S PT1/4 10 325 21 17 22 POC1001-S PT1/8 17 7.5 30 21 5 15.5
PC1003-S 10 PT3/8 11 28 21 17 19 POC1002-S 10 PT1/4 17 10 29 21 6 14.5
PC1004-S PT1/2 14 26.5 21 21 33 POC1003-S PT3/8 17 11 28 21 8 17.5
PC1201-S PT1/8 7.5 32.5 23 21 35.5 POC1004-S PT1/2 21 14 26.5 21 8 32.5
PC1202-S 12 PT1/4 10 35 23 21 37.5 POC1202-S PT1/4 21 10 34.5 23 6 30
PC1203-S PT3/8 11 30.5 23 21 26.5 POC1203-S | 12 | PT3/8 21 11 30 23 8 23
PC1204-S PT1/2 14 32.5 23 21 38.5 POC1204-S PT1/2 21 14 32 23 8 34.5

N



S Bh T (F—— A B E R AIl'TAL
EE—REE

B i BT s 5
PL 6 01 ] O0-8

L 1 I 1
1 203 C?) (6

@521 QBBEOR | OFEEEBK @EEEAR OF KK ©OHHERIRE
PHW. FRIRINTJie—& | PZB. TSRMILE CEEARR @ AREE0E fﬁé@ﬁﬁmﬁggi 777777777777
: o B0 e
M5 l\/|5><o.83 »4, ©6 °H: K@EN% W,
4. ®4mm !
6. ®6mm !
8. ®8mm ! ! 7°8: PTSH |S. RiE#H304
10: ®10mm } }
12, ©®12mm [~ ***************** *********************
01: PT1/8 3@4 o6
02: PT1/4 | = }ﬁD: )
03: PT3/8 3$?’2®10 D: R ﬁ@%: 26
04: PT1/2 i
PKD 6 4 01 D D s
| | |
ORBIR QgEOR QEEOR @E R GEELE ©F R @ E R
PKD: SBfCIRM TS elslawid RBEE
6: ®6mm 4. ®4mm 01: PT1/8 [T ‘20 Wl
8. ®8mm 6: ®6mMmM 02. PT1/4 z£8: K& [ RE. W@ 7, PTS S. 3304
10: ®10mm 8: ®8mm 03. PT3/8 |~ . - B0, 28
b: & B BB
ERFE BB S iRNERER
1. FEBHS0 EEBES RIEE e v BEnE B @ mEnE
2. EEIBARRE, ErERTSERBRT; e “’.4 ‘D.G ©8 | ©10| 12 %3 | #HE | 06-04 ©8-06 ©10-08
3. ABMAEED, TRBERE ﬁw@?% mE; Tl @ o e e e PT1/8 °
4, RBEEHEHERE, BREEENNEZIFEXMA; PL PT1/a | ®@ | ®  ®© e | @ PKD | PT1/4 )
5. BREDBREBHE, MOAHIERMINBERE, FIREMN PT3/8 CEEEE R PT3/8 °
BREEHOELR. PT1/2 CEREEE R
M5 e o
a PTI/8 | @ | @ | @ | @
iR PLL [PT1/4 | @ | @ | @ @ | @
PT3/8 e o o | o
ERENEE 0~10kgf/cm?(0~1.0MPa) PT1/2 e o
e —750mmHg(10Torr) M5 e | o
{RESMER ) 1.56MPa PEB | PT1/8 | @ | @ [ @ | @
= . PED [ PT1/4 | @ [ @ | @ | @ | @
FRREE (C) . —20~7\o PYB | PT3/8 e o o o
BRTE [EERETPUE PT1/2 e o o
=) We/Re M5 e | o
ol PTI/8 | @ | @ | @
SRyt PT1/4 [ J [ ] [
PaEBEETE PHFE " pra8 e o o | o
PT1/2 e | o [ o
PL% 5l ik 4% #HE PT1/8 | @ | @ | ®
1 [BEEO PoM PHW PT1/4 [ ] [ ) o
) | enE | e PT3/8 e o o | o
= — PT1/2 e o [ o
3 BERF ANEH PT1/8 e [ o
4 | EIE | POM P7B PT1/4 e o | o
5 =705 NBR PT3/8 e | o o o
| 6 | xaE BT PT1/2 e o [ o
7 | OFE | NBR
8 BRI SUS304

V4, 289



—

S Bh T (F—— A B E R

AIl'TAC

BE—RBUR

51 ERIE
PL® I PYB%3I DC
2-0OP 3 / |
2-0D y 'f_,*
T | 1 1 ]| § } ﬁ?i
< 1 | 1 § i
EREEEI A f v .
777777 (=
o oJ ‘ ‘j ©
w —
| M54
R
H O 1S
- = E
R L R
BUSR\EFSE | ©D R oP | L K | EA | EB [HiZHEE(g) BFE\ESE oD| R |OP| L | C| K |oJ|JA|DC HEHE=E(g)
PLAMb5-S M5x0.8 9 356 | 14 17 15 8 3 i PYB4M5-S M5x0.8/ 9 [3.5/355/ 14 |32/ 13 10 9 6.5
PL401-S| 4 | PT1/8 | 9 | 75 | 14 | 17 |185] 10 | 4.5 ! PYB401-S| 4 | PT1/8 | 9 (75(395/ 14 (32|13 |10 10 | 85
PL402-S PTi/4 | 9 | 10 | 14 | 17 |22.0) 14 | 11 | PYB402-S PT1/4 | 9 | 10 |42.5 14 32|13 | 10| 14 | 10
F;'-L%'\é'f_‘g M;’Tﬁ/oéS 152 32 ]; 58 ;S:g 180 465 | PYB6M5-S M5x0.812.5 3.5 40.5(16.5 3.2 156 12 | 12 | 105
PL602-S| 6 | PTI/4 125 10 | 17 | 20 |240 14 | i25 | _PYB6OI-S| . [ PT1/8 [12.5/7.5 44.516.5/3.2]16.5 12 12 | 13
PL603-S PT3/8 125 11 | 17 | 20 (258 17 | 19 . _PYB602-S PT1/4 |12.5| 10 |47.5(16.5/3.2 165 12 | 14 | 17
PL604-S PT1/2 | 125 14 17 20 1300 21 33 PYB603-S PT3/8 [12.5/ 11 |49.0/116.5/ 3.2 |15.5| 12 17 23.5
PL801-S PT1/8 | 16 | 7.5 | 185 | 23 | 20.5| 10 7 ! PYB801-S PT1/8 | 15 | 7.5| 50 [18.5/3.2| 17 [14.5] 14 | 19
PL802-S| o | PTi/4 | 156 | 10 | 185 23 [26.0 | 14 | 12 . _PYB802-S g | PT1/4 [ 1510 (52.5(18.53.2| 17 [14.5] 14 | 21
PL803-S PT3/8 | 16 | 11 [185| 23 [265| 17 | 1956 | PYB803-S PT3/8 | 15 | 11 | 54 [18.5/3.2| 17 [14.5] 17 | 26
PL804-S PT1/2 | 16 | 14 | 185 23 |31.0) 21 | 33 ! PYB804-S PT1/2 | 15| 14 | 58 [18.5/3.2 | 17 [14.5| 21 | 38
PL1001-S PT1/8 | 18 | 75 | 21 265|250 17 | 18656 ' pygigo1-S PT1/8 | 18 | 7.5 |56.5| 21 |4.3|19.5| 18 | 17 | 26
PL1002-§ ,, | PT1/4 | 18 | 10 | 21 |255/27.0| 17 | 18 PYB1002-S PT1/4 | 18 10 | 59 | 21 4.3|19.5/ 18 | 17 | 28
PL1003-5 PT3/8 | 18 | 11 | 21 [255]28.0| 17 | 20 - PvB1003=s '° | PT3/8 |18 | 11 60 21 43195 18| 17 | 31
PL1004-S PT1/2 | 18 | 14 | 21 | 255 |325| 21 | 345 | : :
BL1201-8 PTi/s | 21 | 7.5 | 23 285 265 17 | 18 - PYB1004-S PT1/2 | 18 | 14 | 64 | 21 |4.3/19.5 18 | 21 | 42.5
PL1202-S ,, | PT1/4 | 21 | 10 | 23 | 285 285 17 | 205 | PYB1202-S PT1/4 | 21 | 10 | 66 | 23 | 4.3] 21 [20.5| 21 | 26.5
PL1203-S PT3/8 21 11 23 | 295 33 17 24 1 PYB1203-S| 12 | PT3/8 | 21 | 11|67 | 23 |43 21 |20.5] 21 49
PL1204-S PT1/2 | 21 | 14 | 23 [ 295 | 34 | 21 | 345 PYB1204-S PT1/2 | 21 | 14 | 70 | 23 [4.3] 21 [20.5] 21 | 53.5
PED%3I 3= PZB%3I
| ‘*T A | *;
% | i i
~ i ;
10 === &R 1
N =2, = ‘ : C :
i O % T S : :
+— K1 el > —prse
L N 4
. T oy €
- —] w 2-0J
BEN] H
4¢ L M 1 Jt L R
REE\FSE (oD| R oP| K | L [EA|EB| 0J| JB [#:BH[E=(g) ! IC
PED4M5-S M5x0.8 9 |14 35 17|21 32|65 9 | 65 |
PED401-S| 4 | PT1/8 | 9 |14 |75 17 | 25 3.2|65| 10 | 85 | msEwsk oD R | L | A | E| C | K |oP oJ[JB|JC HEHER(g)
PED402-S PT1/4 9 (141017 ] 2813265 14 | 145 | PZB601-S PT1/8/ 7.5 27.547.5 12 14.5
PED6M5-S M5x0.8[12.5[16.5/ 3.5 | 20 23.5/3.2| 8 | 12 | 10.5 | PZB602-S| 6 |PT1/4 10 39.530.550.516.512.53.2| 8 | 16| 14 | 19.5
PED601-S 6 PT1/8 |12.5/16.5| 7.5 | 20 |27.5/3.2| 8 12 13 ' PZB603-S PT3/8 11 32|52 17 25.5
PED602-S PT1/4 |12.5/16.5| 10 | 20 |30.5/3.2| 8 14 17.5 ' PZB801-S PT1/8/ 7.5 30.553.5 14 20
PED603-S PT3/8 |12.5/16.5| 11 | 20 | 32 |3.2| 8 | 17 | 23.5 ' PzB802-S PT1/4] 10 33|56 14 | 225
PED801-S PT1/8 | 15 [18.5/ 7.6 23 [30.5/4.3|9.5 14 | 17.5 | PZBB03-S 8 Ip1ars 11| *C Basbr 5 00 15439819 5oy
PED802-S | . | PT1/4 | 16 [18.6/ 10 | 23 |33 (4.3 9.5 14 | 20 ' PZB804-S PT1/2| 14 38.561.5 21 | 405
PED803-S PT3/8 | 15 18,6 11 | 23 [34.5/4.3 |95 17 | 26,5 : PZB1002-S  |PT1/4 10 36.5 63 17 | 32
PED804-S PT1/2 | 15 |18.5/ 14 | 23 [38.5/4.3[9.5| 21 | 38 | PZB1003-S 10 PT3/8 11 52.537.5 64 |21 18 4.3/ 11 22| 17 | 35
PED1001-S PT1/8 | 18 | 21 | 7.5|26.5 34 |43 11 | 17 | 2555 | PZB1004-S  |PT1/2| 14 41.5 68 21 | 465
PEOIO0LS g PTVE |16 21| 10 20545 11 175 Pl 1 EIO 11 0217 g 1) 13 20| 21|
_ 5/37.5] 4. | PZB1204-S “[PT1/2| 14 4575 21 62
PED1004-S PT1/2 | 18 | 21 | 14 |26.5/41.5/ 4.3 | 11 | 21 | 42.5 |
PED1202-S PT1/4 | 21 | 23 | 10 | 30 | 41 |43 13 | 21 | 47
PED1203-S| 12| PT3/8 | 21 | 23 | 11 | 30 | 42 | 4.3| 13 | 21 | 485
PED1204-S PT1/2 | 21|23 | 14 30|45 [43] 13| 21 | 54

P

290

N



N N

HWB A —F B E A AIl'TAL
BE—RE

PLL%FI] EA L - PHW %%l
K 3 b EA
| : Do H 7K
d ala 1 N R
J e AN REma]PE———
Y ] | B =1 Y I
\ | N 3 | &
1 1 $) ‘
o e d = :
| (@) f T
® _ _ L
| o | Mo : ]
‘ - i
(O, &, T
T N
R
' |
BSR\EE (oD R [oP[ K [ L [EA | EB [#i#H E&(g) = HmW&® [oD| R [oP| L [ ¢ | K [EA|EB [ DC [#i#H &&(g)
PLLAM5-S M5x0.8] 9 14 [ 35 | 17 |325] 8 8 | PHW401-S| 4 |PT1/8] 9 |7.5|38 | 14 20.5[14.5[ 13 | 11 | 17.5
PLL401-S | 4 | PT1/8 | 9 | 14 | 75| 17 |855] 10 | 11.5 | "pHWe01-S PT1/8/12.5/ 7.5 | 38 [16.5/23.0| 15 | 13 | 11 | 19.5
PLL402-S PTA4 | 9 | 14 | 10 | 17 385 14 | 155\ "pi\we02-S | 6 PT1/4/12.5) 10 |43.5/16.525.017.56/16.5 14 | 37.5
PLLEMS-S MSx08/ 125 17 13520 345/ 8 | 95 ' Hhwe0s-s PT3/8[12.5| 11 | 50 |16.5/27.0 20 |16.5| 19 | 64
PLL601-S PT1/8 |12.5| 17 | 7.5 | 20 (375 10 | 12 ! - - 5127 :
PLL602-S | © | PT1/a 125 17 | 10 | 20 |405| 14 | 165 | PHW801-S PT1/8| 15 | 7.5 40.5/18.5/26.5/16.515.5| 11 | 22.5
PLL603-S PT3/8 | 12.5| 17 11 20 43 17 215 . PHW802-S s PT1/4| 15 | 10 |43.5/18.5/28.5/18.5/15.5| 14 38
PLL801-S PTi/8 | 16 185 756 | 23 435 12 | 1565 ' PHWB803-S PT3/8| 15 | 11 | 50 |18.529.5| 20 |16.5| 19 | 65
PLL802-S | 8 | PTi/4 | 156 | 185 10 | 23 (455 14 | 21 . PHW804-S PT1/2| 15 | 14 | 61 18,5 32 |24.5| 22 | 24 | 1335
PLL803-S PT3/8 | 15 |18.5| 11 | 23 | 48 | 17 | 25,5 | PHW1002-S PT1/4| 18 | 10 |46.5| 21 | 31 | 20 [18.5] 14 44
PLL1001-S PT1/e | 18 | 21 | 7.5 1255 505 16 | 35 ' pHw1003-S| 10 [PT3/8] 18 | 11 |55 | 21 |33 21 |22 | 19 | 81.5
PLL1002-S|,, | PT1/4 | 18 | 21 | 10 |255/68.5 15 | 375 ' by\yioo4—s|  |PT1/2| 18 | 14 | 61 | 21 36.6| 25 | 22 | 24 | 1275
PLL1003-S PIs/8 | 18 | 21 | 11 125.51545] 17 | 38 © PHW1203-S| __ PT3/8| 21 | 11 | 55 23 | 36 | 23 | 22 | 19 | 80.5
PLL1004-S PT1/2 | 18 | 21 | 14 | 255 59 | 21 | 44 : =S| 4 PTY/ :
BLL1207-S PT1/a | 21 | 23 | 10 285555 15 | 40 | PHW1204-S| “ [PT1/2| 21 | 14 | 61 | 23 | 38 |26.5| 22 | 24 | 1375
PLL1203-S 12 | PT3/8 | 21 | 23 | 11 | 295 60 | 17 | 516 |
PLL1204-S PT1/2 | 21 | 23 | 14 | 295 63 | 21 | 52.5
PH® 3 E PHF %7l
H | » 1 H
K i < i
L8 ! E — RB
FTTT 99 o 4D
—1 o . s o K
Iy R : YR —r 7#77 foi
O i O B,
‘ U M5#RfE | P §
I &) e e 3
- L L NEy I
R ! E
| RA/
W (oD R | OP| L | C | K | E |®i#H[EE(g & MWW® oD RA | RB (OP/LA[LB| C | K | E H#HER(g)
PHAMS-S |, M5x0.8 9 |35 | 17 | 14 | 19 | 8 | 55 . PHFAM5-S | , [M5x0.8M5x0.8/ 9 (35| 6 20 1419 8 | 6
PH401-S PT1/8 | 9 | 7.5 | 25 | 14 (205 11 | 12 | PHF401-S PT1/8|PT1/8| 9 | 7.5 8 [29.5/ 14 [20.5] 12 | 12
PH6M5-S M5x0.8 1256 35 | 17 |16.5|235 8 | 6.5 : PHF6M5-S M5x0.8 M5x0.812.5 3.5 | 6 | 20 |16.5[23.5| 8 | 7
PH601-S | [ PT1/8 [12.6| 7.6 | 26 |16.5| 23 | 11 | 13 | PHF601-S | . [PT1/8|PT1/8/1257.5| & 29.6(16.5/ 23 | 12 | 13
PH602-S PT1/4 |12.56| 10 | 28 |16.5 25 | 14 | 235 | PHF602-S PT1/4| PT1/412.5 10 | 11 | 35 |16.5| 25 | 17 | 28
PH603-S PT3/8 |12.56| 11 | 33 |16.5 27 | 19 | 465 | PHF603-S PT3/8| PT3/8 12.5 11 | 12 | 40 [16.5| 27 | 19 | 41
PH801-S PT1/8 | 15 | 7.5 | 25 |18.5 265 11 | 14 | PHF801-S PT1/8| PT1/8 |15 | 7.6 8 |29.56/18.6[26.6| 12 | 14
PH802-S | o [ PTi/4 | 15 | 10 | 28 |18.5 2856 14 | 245 | PHF802-S |  [PTi/4 PT1/4 15| 10 | 11|36 18.5[28.5 17 | 28.5
PH803-S PT3/8 | 15 | 11 | 33 |18.5 295 19 | 455 | PHF803-S PT3/8| PT3/8 |15 11 | 12 | 40 |18.5[29.5 19 | 41.5
PH804-S PT1/2 | 15 | 14 | 39 |185 32 | 24 | 82 | PHF804-S PT1/2| PT1/2 |15 14 13.5/47.5/18.5/ 32 | 24 | 78
PH1002-S PT1/4 | 18 | 10 | 28 | 21 | 31 | 14 | 26 | PHF1002-S PT1/4| PT1/4 18 10 | 11 | 35 | 21 | 31 17 | 30
PH1003-S| 10 | PT3/8 | 18 | 11 | 33 | 21 | 33 | 19 | 47.5 | PHF1003-S |10 PT3/8/ PT3/8 18| 11 | 12 | 40 | 21 |33 | 19 | 43
PH1004-S PT1/2 | 18 | 14 | 39 | 21 355 24 | 81.5 . PHF1004-S PT1/2| PT1/2 |18 | 14 13.5/47.5| 21 [35.5| 24 | 79.56
PH1203-S| |, | PT3/8 | 21 | 11 | 33 | 23 | 36 | 19 | 495 | PHF1203-S | |PT3/8PT3/8 21 11|12 |40 23 36| 19 | 45
PH1204-S PT1/2 | 21 | 14 | 39 | 23 | 38 | 24 | 86 | PHF1204-S PT1/2| PT1/2 | 21 | 14 13.5/47.5/ 23 | 38 | 24 | 83
PKD %31 JC I
3-OPB i RISE\FSE | ODA | ODB| R L A | oPA| oPB| KA
3-0DB g ! h‘ | PKD6-401-S | 6 4 |PTi/8| 75 | 665|125 | 9 | 165
| ! ;
9_0J 2 & | PKD8-602-S| 8 6 |PT1/4| 10 | 79 | 15 | 125 | 185
Ho " | PKD10-803-S| 10 8 |PTa/8| 11 | 916/ 18 | 15 | 21
R i
- w RN R BT o 3 3 RUSR\FF IR KB o©J | JB Jc DC E | #8H Z:E(g)
518 — T 711 49 3 PKD6-401-S | 14 | 32 | 8 | 34 | 10 | 175 12 | 15
~ © ; t PKD8-602-S | 165 | 3.2 | 95 | 40 | 12 | 21 | 14 | 255
KA DC|DC L PKD10-803-S| 185 | 43 | 11 | 48 | 145 24 | 17 | 365
A

V4, 291




—

S Bh T (F—— A B E R

AIl'TAC

BE—RBUR

PEB% %I

2-EA ~

2-K \: i

o1 & W

o111l | e . s

2 SN §

o
. o) M5 4&
] H
o
ﬁ m\
R Jf%
R

Bg\Es (ob] R |oP| L | K [EA|EB| 0J/| JB [¥8H|E8(g)
PEB4AM5-S M5x0.8 9 |35 14 |17 | 213265 9 6.5
PEB401-S | 4 | PT1/8 | 9 | 75|14 |17 | 25[32/65| 10 | 85
PEB402-S PT1/4 | 9 | 10 | 14 | 17 | 28 |3.2|65| 14 | 145
PEB6M5-S M5x0.8/12.5/ 3.5 |16.5| 20 |23.5/3.2| 8 | 12 | 105
PEB601-S | , | PT1/8 |12.5/7.5 16,56 20 27.5/3.2| 8 | 12 13
PEB602-S PT1/4 |12.5| 10 [16.5| 20 |30.5/3.2| 8 | 14 | 17.5
PEB603-S PT3/8 [12.5| 11 |16.5| 20 | 32 |3.2| 8 | 17 | 235
PEB801-S PT1/8 | 15 | 7.5 |18.5| 23 [30.5/ 4.3 95| 14 | 17.5
PEB802-S | _ | PT1/4 | 15|10 1856/ 23 | 33 (4395 14 20
PEB803-S PT3/8 | 15 | 11 |18.5| 23 |34.5 4.3|9.5| 17 | 26.5
PEB804-S PT1/2 | 15 | 14 [18.5| 23 |38.5| 4.3 | 9.5| 21 38
PEB1001-S PT1/8 | 18 | 7.5 | 21 |26.5| 34 | 4.3 | 11 | 17 | 25.5
PEB1002-S| | PT1/4 | 18 | 10 | 21 [26.5/36.56/4.3 | 11 | 17 | 275
PEB1003-S PT3/8 | 18 | 11 | 21 [26.5(37.5/ 4.3 11 | 17 30
PEB1004-S PT1/2 | 18 | 14 | 21 |26.5/41.5/ 4.3 | 11 | 21 | 425
PEB1202-S PT1/4 | 21 | 10 | 23 | 30 | 41 |43 13| 21 47
PEB1203-S| 12 | PT3/8 | 21 | 11 | 23 | 30 | 42 | 4.3 | 13 | 21 | 485
PEB1204-S PT1/2 | 21 | 14 | 23|30 | 45 |43 13| 21 54

292

N



